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B2E=) Wastd | ®and | S5¥% | HES
At2k(170/300~350q) 2,189 2,131 58 2.72%
Hi (17H/650~700g) 3,936 3,614 322 8.91%
2(171/1kg) 1,491 1,441 50 3.47%
Hi 2=(1 27| /3kg) 3,919 3,676 243 6.61%
CHitH(15/S/1kg/2E 7HA) 2,705 2,781 76 -2.73%
20|(37H) 3,629 3,368 261 7.75%
) K| 27| (= 4t/ 8 4 /6009) 14,604 13,946 658 4.72%
SET= SE7|(10H2] /1kg) 6,744 6,882 138 -2.01%
(16E3) A D7|(=Z /=7 HE LK /1S 43,516 40,996 2,520 6.15%
2| 07| (= &i4t/LAZH[/6009) 27,113 25,056 2,057 8.21%
= Z(1E/C 2H/307H) 6,556 6,646 90 -1.35%
Z7|(10F2|/=4F/15cm) 1,528 1,216 312 25.62%
HX|(10r2|/=4H/80cm) 7,828 7,306 522 7.15%
1s0(10r2|/=4/30cm) 3,507 3,639 132 -3.62%
HEf(10r2]/2H A|OFLF/40¢m) 3,949 3,838 111 2.90%
QA0 (10r2|/5HS/30cm) 4,149 4,698 549 -11.68%
A (20kg) 58,910 59,310 400 -0.67%
2| (=4/1kg) 3,293 3,386 93 -2.75%
Lt 1t(1kg) 1,990 1,968 22 1.12%
7tOHS (1kg) 9,819 10,655 836 -7.85%
d7IF (5 EHE/1ka) 1,609 1,619 10 -0.62%
B (12/300g/3 QA +W1| 1,213 1,223 10 -0.82%
MEE AE8018L/E7E 6,365 6,211 154 2.48%
(14E5) =18 360mQ/ADH7.§1) 1,301 1,285 16 1.25%
O == (1 & 500me/2A 01 7&) 1,490 1,490 - 0.00%
AZ(19 360me/2|A) 4,000 4,000 H5t
I3H’<(1 B 500me/2| &) 4,000 4,000 =23t
3|22 (L) 1,687 1,625 62 3.82%
74 S(1L) 1,510 1,449 62 4.25%
S(1L) 1,146 1,107 39 3.55%
70 21 A H| A EHKPE*HIU50~2009/%LHH/9|M) 12,000 12,000 H 3t
(28F) | A £(150~200g/=LiLt/2l4) 12,000 12,000 3t




